
 



 



 



 



 





 



 



 



 

 

 

 





 

 



 

 





 





 







 









 



 





 



 

 



 



 







 







 







 



 

 



 



 

 



 



 

https://bit.ly/prototipAT


https://bit.ly/staticni_FAB
https://bit.ly/animirani_FAB


 

 



 



 

 



 

 

 

𝑣𝑟𝑒𝑚𝑒𝑛𝑠𝑘𝑎 𝑒𝑓𝑖𝑘𝑎𝑠𝑛𝑜𝑠𝑡 =  
∑ ∑

𝑛𝑖𝑗

𝑡𝑖𝑗

𝑁
𝑖=1

𝑅
𝑗=1

𝑁𝑅

𝑢𝑘𝑢𝑝𝑛𝑎 𝑟𝑒𝑙𝑎𝑡𝑖𝑣𝑛𝑎 𝑒𝑓𝑖𝑘𝑎𝑠𝑛𝑜𝑠𝑡 =  
∑ ∑ 𝑛𝑖𝑗𝑡𝑖𝑗

𝑁
𝑖=1

𝑅
𝑗=1

∑ ∑ 𝑡𝑖𝑗
𝑁
𝑖=1

𝑅
𝑗=1

 × 100%



 



 

 



 

 

 



𝑣𝑟𝑒𝑚𝑒𝑛𝑠𝑘𝑎 𝑒𝑓𝑖𝑘𝑎𝑠𝑛𝑜𝑠𝑡 =  
∑ ∑

𝑛𝑖𝑗

𝑡𝑖𝑗

𝑁
𝑖=1

𝑅
𝑗=1

𝑁𝑅

𝑢𝑘𝑢𝑝𝑛𝑎 𝑟𝑒𝑙𝑎𝑡𝑖𝑣𝑛𝑎 𝑒𝑓𝑖𝑘𝑎𝑠𝑛𝑜𝑠𝑡 =  
∑ ∑ 𝑛𝑖𝑗𝑡𝑖𝑗

𝑁
𝑖=1

𝑅
𝑗=1

∑ ∑ 𝑡𝑖𝑗
𝑁
𝑖=1

𝑅
𝑗=1

 × 100%



 







 











 





 

 





 





 



 



 



 



 

 






